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SECTION A (40 marks)

Answer ALL questions in this section,

1. Explain any two motives for money {4 marks)
2 Distinguish between economics of scale and diseconomies of scale. {4 marks}
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5. Using a sketch, explain an indifference curve. {4 marks)
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Define the following terms:

(1} urbanization; {2 marks)
(i) industrialization. {2 marks)

1 State any four types of displacement. {4 marks)
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B Explain the concept of power struciure as used in the elitist position. (4 marks)
|59, Explain the term organizational behaviour, {4 marks)
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(b)  Name any two sources of Weberian Legitimate Authority. (2 marks)
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BECTION B (00 marks) '

Answer any THREE guestions from this section in the spaces provided after question 15,

11. (a) Use diagrams o explain the following concepls:
(1} disengagsrment; (6 marks)
in elear boundanes. (6 marks)
(b} Explain the two stages of preconventional morality developmant, {8 marks)

12, (a) Use the following human needs to construct Maslow’s Hierarchy of needs pyramid: air,
security, food, relationship, achievement, affection, shelter, reputation, fulfilment and
protection. {11 marks)

(b Exgplain three levels at which majority of persons operate in 2 Maslow's Hierarchy of

needs. . (9. marks)
13. {n) Explain five fuctors of production. { 10 marks)
() Explain any five roles played by small firms in the economy of Kenya, = (10 marks)

14, {a) Explain any two ways through which the government can influence market prices.
{6 marks)

i) Explain #ny seven measures undertaken by the government of Kenya to control
inflation. {14 marks)

15, {a)  The following are ive methods of producing 300 pairs of Boots in company ABC

[Limmited.
Method Machine Hours | Labour Hoors
] 60 100 5
1 (K} 200 \
1 300 300
v 230 400 53
v 200 500

(1]

1se the above data to eonstruct a graph of an isoquant of machine hours against

labour hours. | (4 marks)
(ii}  State three importance of an isogquant. {6 marks)
(b} Identify any five advantages of trade resirictions in kenya. (10 marks)
': 1lf, _|E r-ir.;_'
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